

**BID NUMBER - PURCH 2015-145  
REFUSE REMOVAL**

**BID COMPARISON**

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY</b>												
<b>Bidder</b>	<b>A. BUILDINGS &amp; GROUNDS DIVISION</b>											
	<b>1. Northeast Community Center</b>			<b>2. North Beach Senior Center</b>			<b>3. Fairview Library/Comm. Center</b>			<b>4. Health Service Center</b>		
	<b>6 CY 2/Week</b>			<b>6 CY 2/Week</b>			<b>4 CY 1/Week</b>			<b>8 CY 2/Week</b>		
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>
Goode Companies, Inc.	\$195.42	12	\$2,345.04	\$195.42	12	\$2,345.04	\$88.90	12	\$1,066.80	\$231.36	12	\$2,776.32
Bay Area Disposal	\$217.00	12	\$2,604.00	\$217.00	12	\$2,604.00	\$83.00	12	\$996.00	\$281.00	12	\$3,372.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$318.00	12	\$3,816.00
Waste Management of Maryland	\$275.99	12	\$3,311.88	\$274.03	12	\$3,288.36	\$116.35	12	\$1,396.20	\$310.96	12	\$3,731.52
Affordable Refuse and Recycling	\$300.00	12	\$3,600.00	\$300.00	12	\$3,600.00	\$100.00	12	\$1,200.00	\$400.00	12	\$4,800.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>												
<b>Bidder</b>	<b>A. BUILDINGS &amp; GROUNDS DIVISION (continued)</b>											
	<b>5. Calvert Pines Senior Center</b>			<b>6. Safe Harbor</b>			<b>7. Courthouse</b>			<b>8. Courthouse Annex</b>		
	<b>6 CY 2/Week</b>			<b>4 CY 1/Week</b>			<b>8 CY 3/Week</b>			<b>6 CY 1/Week</b>		
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>
Goode Companies, Inc.	\$195.42	12	\$2,345.04	\$88.90	12	\$1,066.80	\$333.54	12	\$4,002.48	\$106.87	12	\$1,282.44
Bay Area Disposal	\$217.00	12	\$2,604.00	\$83.00	12	\$996.00	\$413.00	12	\$4,956.00	\$115.00	12	\$1,380.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$476.99	12	\$5,723.88	\$119.25	12	\$1,431.00
Waste Management of Maryland	\$272.46	12	\$3,269.52	\$115.78	12	\$1,389.36	\$461.74	12	\$5,540.88	\$132.31	12	\$1,587.72
Affordable Refuse and Recycling	\$300.00	12	\$3,600.00	\$100.00	12	\$1,200.00	\$600.00	12	\$7,200.00	\$150.00	12	\$1,800.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	9. County Services Plaza			10. Community Resources Bldg.			11. Calvert House			12. Substance Abuse Facility		
	6 CY 2/Week			4 CY 1/Week			6 CY 2/Week			4 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$195.42	12	\$2,345.04	\$88.90	12	\$1,066.80	\$195.42	12	\$2,345.04	\$88.90	12	\$1,066.80
Bay Area Disposal	\$217.00	12	\$2,604.00	\$83.00	12	\$996.00	\$217.00	12	\$2,604.00	\$83.00	12	\$996.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00
Waste Management of Maryland	\$272.46	12	\$3,269.52	\$115.78	12	\$1,389.36	\$272.46	12	\$3,269.52	\$115.78	12	\$1,389.36
Affordable Refuse and Recycling	\$300.00	12	\$3,600.00	\$100.00	12	\$1,200.00	\$300.00	12	\$3,600.00	\$100.00	12	\$1,200.00

1

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	13. Southern Comm. Center			14. Solomons Boat Ramp						15. Solomons Parking Lot		
	6 CY - 2/Week			Two (2) 8 CY (2/Week) March 1 - November 30			Two (2) 8 CY (1/Week) December - February 28 (29)			8 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$195.42	12	\$2,345.04	\$232.36	9	\$2,091.24	\$124.84	3	\$374.52	\$124.84	12	\$1,498.08
Bay Area Disposal	\$217.00	12	\$2,604.00	\$562.00	9	\$5,058.00	\$296.00	3	\$888.00	\$148.00	12	\$1,776.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$635.99	9	\$5,723.91	\$318.00	3	\$954.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	\$272.46	12	\$3,269.52	\$566.51	9	\$5,098.59	\$291.83	3	\$875.49	\$160.18	12	\$1,922.16
Affordable Refuse and Recycling	\$300.00	12	\$3,600.00	\$800.00	9	\$7,200.00	\$400.00	3	\$1,200.00	\$200.00	12	\$2,400.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	16. Courthouse Square			17. Mt. Hope Community Ctr.			18. Waterman's Wharf			19. Prince Frederick Library		
	6 CY 1/Week			6 CY 1/Week			4 CY 1/Week			4 CY 2/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$106.87	12	\$1,282.44	\$106.87	12	\$1,282.44	\$88.90	12	\$1,066.80	\$159.48	12	\$1,913.76
Bay Area Disposal	\$115.00	12	\$1,380.00	\$115.00	12	\$1,380.00	\$83.00	12	\$996.00	\$153.00	12	\$1,836.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$119.25	12	\$1,431.00	\$79.50	12	\$954.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	\$140.42	12	\$1,685.04	\$142.22	12	\$1,706.64	\$115.78	12	\$1,389.36	\$225.71	12	\$2,708.52
Affordable Refuse and Recycling	\$150.00	12	\$1,800.00	\$150.00	12	\$1,800.00	\$100.00	12	\$1,200.00	\$200.00	12	\$2,400.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)										
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)									
	20. Island Creek School			21. Calvert Storage Facility			22. Library, Southern Branch			Subtotal A. Buildings & Grounds Division Items 1 through 22
	4 CY 1/Week			4 CY 1/Week			4 CY 1/Week			
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	
Goode Companies, Inc.	\$88.90	12	\$1,066.80	\$88.90	12	\$1,066.80	\$88.90	12	\$1,066.80	\$39,108.36
Bay Area Disposal	\$83.00	12	\$996.00	\$83.00	12	\$996.00	\$83.00	12	\$996.00	\$45,618.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$79.50	12	\$954.00	\$79.50	12	\$954.00	\$79.50	12	\$954.00	\$49,130.79
Waste Management of Maryland	\$117.08	12	\$1,404.96	\$117.08	12	\$1,404.96	\$115.78	12	\$1,389.36	\$55,687.80
Affordable Refuse and Recycling	\$100.00	12	\$1,200.00	\$100.00	12	\$1,200.00	\$100.00	12	\$1,200.00	\$61,800.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>										
<b>Bidder</b>	<b>B. DETENTION CENTER</b>									<b>Subtotal B. Detention Center Items 23 through 24</b>
	<b>23. Detention Center</b>						<b>24. DWI/Treatment Facility</b>			
	<b>8 CY 3/Week</b>			<b>6CY 3/Week</b>			<b>8 CY 1/Week</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Goode Companies, Inc.	\$419.80	12	\$5,037.60	\$344.33	12	\$4,131.96	\$153.59	12	\$1,843.08	\$11,012.64
Bay Area Disposal	\$413.00	12	\$4,956.00	\$318.00	12	\$3,816.00	\$148.00	12	\$1,776.00	\$10,548.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$476.99	12	\$5,723.88	\$357.74	12	\$4,292.88	\$159.00	12	\$1,908.00	\$11,924.76
Waste Management of Maryland	\$430.83	12	\$5,169.96	\$373.59	12	\$4,483.08	\$145.50	12	\$1,746.00	\$11,399.04
Affordable Refuse and Recycling	\$600.00	12	\$7,200.00	\$450.00	12	\$5,400.00	\$200.00	12	\$2,400.00	\$15,000.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	C. FIRE/RESCUE/EMS FACILITIES											
	25. North Beach VFD			26. Prince Frederick VFD			27, Solomons Res.Sq. & FD			28. Solomons Res. Sq & FD Substation		
	8 CY 1/Week			8 CY 1/Week			8 CY 1/Week			6 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$146.40	12	\$1,756.80	\$146.40	12	\$1,756.80	\$146.40	12	\$1,756.80	\$123.04	12	\$1,476.48
Bay Area Disposal	\$148.00	12	\$1,776.00	\$148.00	12	\$1,776.00	\$148.00	12	\$1,776.00	\$115.00	12	\$1,380.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$119.25	12	\$1,431.00
Waste Management of Maryland	\$162.33	12	\$1,947.96	\$160.18	12	\$1,922.16	\$160.18	12	\$1,922.16	\$140.42	12	\$1,685.04
Affordable Refuse and Recycling	\$200.00	12	\$2,400.00	\$200.00	12	\$2,400.00	\$200.00	12	\$2,400.00	\$150.00	12	\$1,800.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	C. FIRE/RESCUE/EMS FACILITIES (continued)											
	29. Prince Fred. VRS			30. Dunkirk VFD			31. Huntingtown VFD			32. St. Leonard VFD		
	8 CY 1/Week			8 CY 1/Week			8 CY 1/Week			8 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$146.04	12	\$1,752.48	\$146.04	12	\$1,752.48	\$146.40	12	\$1,756.80	\$146.40	12	\$1,756.80
Bay Area Disposal	\$148.00	12	\$1,776.00	\$148.00	12	\$1,776.00	\$148.00	12	\$1,776.00	\$148.00	12	\$1,776.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	\$160.18	12	\$1,922.16	\$160.18	12	\$1,922.16	\$160.18	12	\$1,922.16	\$160.18	12	\$1,922.16
Affordable Refuse and Recycling	\$200.00	12	\$2,400.00	\$200.00	12	\$2,400.00	\$200.00	12	\$2,400.00	\$200.00	12	\$2,400.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>				
<b>Bidder</b>	<b>C. FIRE/RESCUE/EMS FACILITIES (continued)</b>			
	<b>33. Calvert Advanced Life Support</b>			<b>Subtotal C. Fire/Rescue/EMS Facilities Items 25 through 33</b>
	<b>6 CY 1/Week</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Goode Companies, Inc.	\$123.04	12	\$1,476.48	
Bay Area Disposal	\$115.00	12	\$1,380.00	\$15,192.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$16,218.00
Waste Management of Maryland	\$140.42	12	\$1,685.04	\$16,851.00
Affordable Refuse and Recycling	\$150.00	12	\$1,800.00	\$20,400.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>				
<b>Bidder</b>	<b>D. MARINE MUSEUM</b>			
	<b>34. Calvert Marine Museum</b>			<b>Subtotal D. Marine Museum Items 34</b>
	<b>8 CY 3/Week</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Goode Companies, Inc.	\$333.54	12	\$4,002.48	\$4,002.48
Bay Area Disposal	\$413.00	12	\$4,956.00	\$4,956.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$476.99	12	\$5,723.88	\$5,723.88
Waste Management of Maryland	\$461.74	12	\$5,540.88	\$5,540.88
Affordable Refuse and Recycling	\$600.00	12	\$7,200.00	\$7,200.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
E. NATURAL RESOURCES DIVISION												
Bidder	35. Kings Landing Park			36. Cypress Swamp Nature Ctr.			37. Flag Ponds Nature Park					
	6 CY 1/Week			4 CY 1/Week			6 CY 1/Week May 1 through September 30			6 CY 2/Month October, November, March, and April		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$117.65	12	\$1,411.80	\$96.09	12	\$1,153.08	\$117.65	5	\$588.25	\$148.60	4	\$594.40
Bay Area Disposal	\$115.00	12	\$1,380.00	\$83.00	12	\$996.00	\$115.00	5	\$575.00	\$92.00	4	\$368.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$79.50	12	\$954.00	\$119.25	5	\$596.25	\$59.62	4	\$238.48
Waste Management of Maryland	\$140.42	12	\$1,685.04	\$115.78	12	\$1,389.36	\$140.42	5	\$702.10	\$77.81	4	\$311.24
Affordable Refuse and Recycling	\$150.00	12	\$1,800.00	\$100.00	12	\$1,200.00	\$150.00	5	\$750.00	\$75.00	4	\$300.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)				
E. NATURAL RESOURCES DIVISION (continued)				
Bidder	37. Flag Ponds (cont'd)			Subtotal E. Natural Resources Division Items 35 through 37
	6 CY 1/Month December, January, and February			
	Monthly Charge	# of Months	Annual Total	
Goode Companies, Inc.	\$62.00	3	\$186.00	\$3,933.53
Bay Area Disposal	\$58.00	3	\$174.00	\$3,493.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$29.81	3	\$89.43	\$3,309.16
Waste Management of Maryland	\$34.18	3	\$102.54	\$4,190.28
Affordable Refuse and Recycling	\$37.50	3	\$112.50	\$4,162.50

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	F. PARKS AND RECREATION DIVISION											
	38. Breezy Point Beach and Campground						39. Marley Run Park			40. Ches. Hills Golf Course Maintenance Bldg.		
	8 CY 1/Week One (1) Box November 1 through April 30			8 CY 2/Week Four (4) Boxes May 1 through October 31 Only Remove Three (3) on Nov. 1			8 CY 1/Week (March 1 through November 30)			6 CY 2/Week April 1 through Sept. 30		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$139.21	6	\$835.26	\$263.11	6	\$1,578.66	\$139.21	9	\$1,252.89	\$216.98	6	\$1,301.88
Bay Area Disposal	\$148.00	6	\$888.00	\$1,124.00	6	\$6,744.00	\$148.00	9	\$1,332.00	\$217.00	6	\$1,302.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	6	\$954.00	\$1,271.98	6	\$7,631.88	\$159.00	9	\$1,431.00	\$238.50	6	\$1,431.00
Waste Management of Maryland	\$162.34	6	\$974.04	\$1,094.10	6	\$6,564.60	\$163.32	9	\$1,469.88	\$256.40	6	\$1,538.40
Affordable Refuse and Recycling	\$200.00	6	\$1,200.00	\$400.00	6	\$2,400.00	\$200.00	9	\$1,800.00	\$300.00	6	\$1,800.00

OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)												
Bidder	F. PARKS AND RECREATION DIVISION (continued)											
	40. Ches. Hills Golf Course Maint. Bldg. (continued)			41. Ches. Hills Golf Course Club House						42. Cove Point Pool		
	6 CY 1/Week October 1 through March 31			8 CY 2/Week April 1 through September 30			8 CY 1/Week October 31 through March 31			8 CY 2/Week May 1 through Sept. 30		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Goode Companies, Inc.	\$117.65	6	\$705.90	\$260.11	6	\$1,560.66	\$139.21	6	\$835.26	\$260.11	5	\$1,300.55
Bay Area Disposal	\$115.00	6	\$690.00	\$281.00	6	\$1,686.00	\$148.00	6	\$888.00	\$281.00	5	\$1,405.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	6	\$715.50	\$318.00	6	\$1,908.00	\$159.00	6	\$954.00	\$318.00	5	\$1,590.00
Waste Management of Maryland	\$132.14	6	\$792.84	\$294.84	6	\$1,769.04	\$151.96	6	\$911.76	\$310.97	5	\$1,554.85
Affordable Refuse and Recycling	\$150.00	6	\$900.00	\$400.00	6	\$2,400.00	\$200.00	6	\$1,200.00	\$400.00	5	\$2,000.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>							
<b>Bidder</b>	<b>F. PARKS AND RECREATION DIVISION (continued)</b>						
	<b>43. Edward T. Haul Aquatic Center</b>			<b>44. Kings Landing Park POOL AREA</b>			<b>Subtotal F. Parks &amp; Recreation Division Items 38 through 44</b>
	<b>6 CY 1/Week</b>			<b>6 CY 1/Week May 31 through Sept. 30 Only</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Goode Companies, Inc.	\$117.65	12	\$1,411.80	\$117.65	5	\$588.25	
Bay Area Disposal	\$115.00	12	\$1,380.00	\$144.00	5	\$720.00	\$17,035.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$119.25	5	\$596.25	\$18,642.63
Waste Management of Maryland	\$140.42	12	\$1,685.04	\$140.42	5	\$702.10	\$17,962.55
Affordable Refuse and Recycling	\$150.00	12	\$1,800.00	\$150.00	5	\$750.00	\$16,250.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>							
<b>Bidder</b>	<b>G. WATER &amp; SEWER DIVISION (continued)</b>						
	<b>45. Prince Frederick WTP II</b>			<b>46. Solomons Headworks</b>			<b>Subtotal G. Water &amp; Sewer Division Items 45 through 46</b>
	<b>4 CY 1/Week</b>			<b>4 CY 1/Month</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Goode Companies, Inc.	\$124.84	12	\$1,498.08	\$62.00	12	\$744.00	\$2,242.08
Bay Area Disposal	\$150.00	12	\$1,800.00	\$80.00	12	\$960.00	\$2,760.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$79.50	12	\$954.00	\$19.87	12	\$238.44	\$1,192.44
Waste Management of Maryland	\$115.78	12	\$1,389.36	\$31.21	12	\$374.52	\$1,763.88
Affordable Refuse and Recycling	\$100.00	12	\$1,200.00	\$100.00	12	\$1,200.00	\$2,400.00

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>								
<b>Bidder</b>	<b>Subtotal A</b>	<b>Subtotal B</b>	<b>Subtotal C</b>	<b>Subtotal D</b>	<b>Subtotal E</b>	<b>Subtotal F</b>	<b>Subtotal G</b>	<b>Total Bid Based on Estimated Annual Quantities</b>
	<b>Buildings &amp; Grounds Division</b>	<b>Detention Center</b>	<b>Fire/Rescue/EMS</b>	<b>Marine Museum</b>	<b>Natural Resources Division</b>	<b>Parks &amp; Recreation Division</b>	<b>Water &amp; Sewer Division</b>	
Goode Companies, Inc.	\$39,108.36	\$11,012.64	\$15,241.92	\$4,002.48	\$3,933.53	\$11,371.11	\$2,242.08	\$86,912.12
Bay Area Disposal	\$45,618.00	\$10,548.00	\$15,192.00	\$4,956.00	\$3,493.00	\$17,035.00	\$2,760.00	\$99,602.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$49,130.79	\$11,924.76	\$16,218.00	\$5,723.88	\$3,309.16	\$18,642.63	\$1,192.44	\$106,141.66
Waste Management of Maryland	\$55,687.80	\$11,399.04	\$16,851.00	\$5,540.88	\$4,190.28	\$17,962.55	\$1,763.88	\$113,395.43
Affordable Refuse and Recycling	\$61,800.00	\$15,000.00	\$20,400.00	\$7,200.00	\$4,162.50	\$16,250.00	\$2,400.00	\$127,212.50

<b>OPTION #1: HAULING AND DISPOSING TO APPEAL LANDFILL ONLY (continued)</b>			
<b>Bidder</b>	<b>ON CALL SITES</b>		
	<b>47. Northern Sewage Treatment Plant 2 CY Price per Pick Up</b>	<b>48. Prince Frederick Sewage Treatment Plant 4 CY Price per Pick Up</b>	<b>49. Industrial Park Wastewater Treatment Plant 4 CY Price per Pick Up</b>
Goode Companies, Inc.	\$55.00	\$65.00	\$65.00
Bay Area Disposal	\$100.00	\$125.00	\$125.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$25.00	\$45.00	\$45.00
Waste Management of Maryland	\$100.00	\$1,110.00	\$110.00
Affordable Refuse and Recycling	\$35.00	\$50.00	\$50.00

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS</b>												
<b>Bidder</b>	<b>A. BUILDINGS &amp; GROUNDS DIVISION</b>											
	<b>1. Northeast Community Center</b>			<b>2. North Beach Senior Center</b>			<b>3. Fairview Library/Comm. Center</b>			<b>4. Health Service Center</b>		
	<b>6 CY 2/Week</b>			<b>6 CY 2/Week</b>			<b>4 CY 1/Week</b>			<b>8 CY 2/Week</b>		
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>
Affordable Refuse and Recycling	\$148.56	12	\$1,782.72	\$148.56	12	\$1,782.72	\$49.52	12	\$594.24	\$198.08	12	\$2,376.96
Goode Companies, Inc.	\$168.79	12	\$2,025.48	\$168.79	12	\$2,025.48	\$80.02	12	\$960.24	\$195.85	12	\$2,350.20
Bay Area Disposal	\$181.00	12	\$2,172.00	\$181.00	12	\$2,172.00	\$71.00	12	\$852.00	\$233.00	12	\$2,796.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$318.00	12	\$3,816.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>												
<b>Bidder</b>	<b>A. BUILDINGS &amp; GROUNDS DIVISION (continued)</b>											
	<b>5. Calvert Pines Senior Center</b>			<b>6. Safe Harbor</b>			<b>7. Courthouse</b>			<b>8. Courthouse Annex</b>		
	<b>6 CY 2/Week</b>			<b>4 CY 1/Week</b>			<b>8 CY 3/Week</b>			<b>6 CY 1/Week</b>		
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>
Affordable Refuse and Recycling	\$148.56	12	\$1,782.72	\$49.52	12	\$594.24	\$297.12	12	\$3,565.44	\$74.29	12	\$891.48
Goode Companies, Inc.	\$168.79	12	\$2,025.48	\$80.02	12	\$960.24	\$280.29	12	\$3,363.48	\$93.55	12	\$1,122.60
Bay Area Disposal	\$181.00	12	\$2,172.00	\$71.00	12	\$852.00	\$342.00	12	\$4,104.00	\$98.00	12	\$1,176.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$476.99	12	\$5,723.88	\$119.25	12	\$1,431.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	9. County Services Plaza			10. Community Resources Bldg.			11. Calvert House			12. Substance Abuse Facility		
	6 CY 2/Week			4 CY 1/Week			6 CY 2/Week			4 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$148.56	12	\$1,782.72	\$49.52	12	\$594.24	\$148.56	12	\$1,782.72	\$49.52	12	\$594.24
Goode Companies, Inc.	\$168.79	12	\$2,025.48	\$80.02	12	\$960.24	\$168.79	12	\$2,025.48	\$80.02	12	\$960.24
Bay Area Disposal	\$181.00	12	\$2,172.00	\$71.00	12	\$852.00	\$181.00	12	\$2,172.00	\$71.00	12	\$852.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00	\$238.50	12	\$2,862.00	\$79.50	12	\$954.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

1

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	13. Southern Comm. Center			14. Solomons Boat Ramp						15. Solomons Parking Lot		
	6 CY - 2/Week			Two (2) 8 CY (2/Week) March 1 - November 30			Two (2) 8 CY (1/Week) December - February 28 (29)			8 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$148.56	12	\$1,782.72	\$396.16	9	\$3,565.44	\$198.08	3	\$594.24	\$99.04	12	\$1,188.48
Goode Companies, Inc.	\$168.79	12	\$2,025.48	\$196.85	9	\$1,771.65	\$107.09	3	\$321.27	\$107.09	12	\$1,285.08
Bay Area Disposal	\$181.00	12	\$2,172.00	\$466.00	9	\$4,194.00	\$250.00	3	\$750.00	\$125.00	12	\$1,500.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$238.50	12	\$2,862.00	\$635.99	9	\$5,723.91	\$318.00	3	\$954.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)											
	16. Courthouse Square			17. Mt. Hope Community Ctr.			18. Waterman's Wharf			19. Prince Frederick Library		
	6 CY 1/Week			6 CY 1/Week			4 CY 1/Week			4 CY 2/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$74.28	12	\$891.36	\$74.28	12	\$891.36	\$49.52	12	\$594.24	\$99.04	12	\$1,188.48
Good Companies, Inc.	\$93.55	12	\$1,122.60	\$93.55	12	\$1,122.60	\$80.02	12	\$960.24	\$141.73	12	\$1,700.76
Bay Area Disposal	\$98.00	12	\$1,176.00	\$98.00	12	\$1,176.00	\$71.00	12	\$852.00	\$129.00	12	\$1,548.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$119.25	12	\$1,431.00	\$79.50	12	\$954.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)										
Bidder	A. BUILDINGS & GROUNDS DIVISION (continued)									
	20. Island Creek School			21. Calvert Storage Facility			22. Library, Southern Branch			Subtotal A. Buildings & Grounds Division Items 1 through 22
	4 CY 1/Week			4 CY 1/Week			4 CY 1/Week			
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	
Affordable Refuse and Recycling	\$49.52	12	\$594.24	\$49.52	12	\$594.24	\$49.52	12	\$594.24	\$30,603.48
Goode Companies, Inc.	\$80.02	12	\$960.24	\$80.02	12	\$960.24	\$80.02	12	\$960.24	\$33,995.04
Bay Area Disposal	\$71.00	12	\$852.00	\$71.00	12	\$852.00	\$71.00	12	\$852.00	\$38,268.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$79.50	12	\$954.00	\$79.50	12	\$954.00	\$79.50	12	\$954.00	\$49,130.79
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID									

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>										
<b>Bidder</b>	<b>B. DETENTION CENTER</b>									<b>Subtotal B. Detention Center Items 23 through 24</b>
	<b>23. Detention Center</b>						<b>24. DWI/Treatment Facility</b>			
	<b>8 CY 3/Week</b>			<b>6CY 3/Week</b>			<b>8 CY 1/Week</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Affordable Refuse and Recycling	\$297.12	12	\$3,565.44	\$222.84	12	\$2,674.08	\$99.04	12	\$1,188.48	\$7,428.00
Goode Companies, Inc.	\$345.24	12	\$4,142.88	\$288.40	12	\$3,460.80	\$128.74	12	\$1,544.88	\$9,148.56
Bay Area Disposal	\$342.00	12	\$4,104.00	\$265.00	12	\$3,180.00	\$125.00	12	\$1,500.00	\$8,784.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$476.99	12	\$5,723.88	\$357.74	12	\$4,292.88	\$159.00	12	\$1,908.00	\$11,924.76
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID									

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	C. FIRE/RESCUE/EMS FACILITIES											
	25. North Beach VFD			26. Prince Frederick VFD			27, Solomons Res.Sq. & FD			28. Solomons Res. Sq & FD Substation		
	8 CY 1/Week			8 CY 1/Week			8 CY 1/Week			6 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$99.04	12	\$1,188.48	\$99.04	12	\$1,188.48	\$99.04	12	\$1,188.48	\$74.28	12	\$891.36
Goode Companies, Inc.	\$123.32	12	\$1,479.84	\$123.32	12	\$1,479.84	\$123.32	12	\$1,479.84	\$105.73	12	\$1,268.76
Bay Area Disposal	\$125.00	12	\$1,500.00	\$125.00	12	\$1,500.00	\$125.00	12	\$1,500.00	\$98.00	12	\$1,176.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$119.25	12	\$1,431.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	C. FIRE/RESCUE/EMS FACILITIES (continued)											
	29. Prince Fred. VRS			30. Dunkirk VFD			31. Huntingtown VFD			32. St. Leonard VFD		
	8 CY 1/Week			8 CY 1/Week			8 CY 1/Week			8 CY 1/Week		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$99.04	12	\$1,188.48	\$99.04	12	\$1,188.48	\$99.04	12	\$1,188.48	\$99.04	12	\$1,188.48
Goode Companies, Inc.	\$123.32	12	\$1,479.84	\$123.32	12	\$1,479.84	\$123.32	12	\$1,479.84	\$123.32	12	\$1,479.84
Bay Area Disposal	\$125.00	12	\$1,500.00	\$125.00	12	\$1,500.00	\$125.00	12	\$1,500.00	\$125.00	12	\$1,500.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00	\$159.00	12	\$1,908.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID											

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>				
<b>Bidder</b>	<b>C. FIRE/RESCUE/EMS FACILITIES (continued)</b>			
	<b>33. Calvert Advanced Life Support 6 CY 1/Week</b>			<b>Subtotal C. Fire/Rescue/EMS Facilities Items 25 through 33</b>
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
	Affordable Refuse and Recycling	\$74.28	12	
Goode Companies, Inc.	\$105.73	12	\$1,268.76	\$12,896.40
Bay Area Disposal	\$98.00	12	\$1,176.00	\$12,852.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$16,218.00
Waste Management of Maryland	NO PAPERWORK FOR OPTION #2 SUBMITTED WITH BID			

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>				
<b>Bidder</b>	<b>D. MARINE MUSEUM</b>			
	<b>34. Calvert Marine Museum</b>			<b>Subtotal D. Marine Museum Items 34</b>
	<b>8 CY 3/Week</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Affordable Refuse and Recycling	\$297.12	12	\$3,565.44	\$3,565.44
Goode Companies, Inc.	\$280.29	12	\$3,363.48	\$3,363.48
Bay Area Disposal	\$342.00	12	\$4,104.00	\$4,104.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$476.99	12	\$5,723.88	\$5,723.88
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 BID			

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>												
<b>E. NATURAL RESOURCES DIVISION</b>												
<b>Bidder</b>	<b>35. Kings Landing Park</b>			<b>36. Cypress Swamp Nature Ctr.</b>			<b>37. Flag Ponds Nature Park</b>					
	<b>6 CY 1/Week</b>			<b>4 CY 1/Week</b>			<b>6 CY 1/Week May 1 through September 30</b>			<b>6 CY 2/Month October, November, March, and April</b>		
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>
Affordable Refuse and Recycling	\$74.28	12	\$891.36	\$49.52	12	\$594.24	\$74.28	5	\$371.40	\$37.14	4	\$148.56
Goode Companies, Inc.	\$101.67	12	\$1,220.04	\$85.44	12	\$1,025.28	\$101.67	5	\$508.35	\$124.00	4	\$496.00
Bay Area Disposal	\$122.00	12	\$1,464.00	\$71.00	12	\$852.00	\$98.00	5	\$490.00	\$78.00	4	\$312.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$79.50	12	\$954.00	\$119.25	5	\$596.25	\$59.62	4	\$238.48
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID											

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>				
<b>E. NATURAL RESOURCES DIVISION (continued)</b>				
<b>Bidder</b>	<b>37. Flag Ponds (cont'd)</b>			<b>Subtotal E. Natural Resources Division Items 35 through 37</b>
	<b>6 CY 1/Month December, January, and February</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Affordable Refuse and Recycling	\$18.57	3	\$55.71	\$2,061.27
Goode Companies, Inc.	\$62.00	3	\$186.00	\$3,435.67
Bay Area Disposal	\$49.00	3	\$147.00	\$3,265.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$29.81	3	\$89.43	\$3,309.16
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID			

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	F. PARKS AND RECREATION DIVISION											
	38. Breezy Point Beach and Campground						39. Marley Run Park			40. Ches. Hills Golf Course Maintenance Bldg.		
	8 CY 1/Week One (1) Box November 1 through April 30			8 CY 2/Week Four (4) Boxes May 1 through October 31 Only Remove Three (3) on Nov. 1			8 CY 1/Week (March through November)			6 CY 2/Week April 1 through Sept. 30		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$99.04	6	\$594.24	\$198.08	6	\$1,188.48	\$99.04	9	\$891.36	\$148.56	6	\$891.36
Goode Companies, Inc.	\$117.91	6	\$707.46	\$220.50	6	\$1,323.00	\$117.91	9	\$1,061.19	\$185.03	6	\$1,110.18
Bay Area Disposal	\$125.00	6	\$750.00	\$932.00	6	\$5,592.00	\$125.00	9	\$1,125.00	\$181.00	6	\$1,086.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$159.00	6	\$954.00	\$1,271.98	6	\$7,631.88	\$159.00	9	\$1,431.00	\$238.50	6	\$1,431.00
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID											

OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)												
Bidder	F. PARKS AND RECREATION DIVISION (continued)											
	40. Ches. Hills Golf Course Maint. Bldg. (continued)			41. Ches. Hills Golf Course Club House						42. Cove Point Pool		
	6 CY 1/Week October 1 through March 31			8 CY 2/Week April 1 through September 30			8 CY 1/Week October 31 through March 31			8 CY 2/Week May 1 through Sept. 30		
	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total	Monthly Charge	# of Months	Annual Total
Affordable Refuse and Recycling	\$74.28	6	\$445.68	\$198.08	6	\$1,188.48	\$99.04	6	\$594.24	\$198.08	5	\$990.40
Goode Companies, Inc.	\$101.67	6	\$610.02	\$217.50	6	\$1,305.00	\$117.91	6	\$707.46	\$217.50	5	\$1,087.50
Bay Area Disposal	\$98.00	6	\$588.00	\$233.00	6	\$1,398.00	\$125.00	6	\$750.00	\$233.00	5	\$1,165.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	6	\$715.50	\$318.00	6	\$1,908.00	\$159.00	6	\$954.00	\$318.00	5	\$1,590.00
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID											

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>							
<b>Bidder</b>	<b>F. PARKS AND RECREATION DIVISION (continued)</b>						
	<b>43. Edward T. Haul Aquatic Center</b>			<b>44. Kings Landing Park POOL AREA</b>			<b>Subtotal F. Parks &amp; Recreation Division Items 38 through 44</b>
	<b>6 CY 1/Week</b>			<b>6 CY 1/Week May 31 through Sept. 30 Only</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Affordable Refuse and Recycling	\$74.28	12	\$891.36	\$74.28	5	\$371.40	\$8,047.00
Goode Companies, Inc.	\$101.67	12	\$1,220.04	DID NOT FILL IN AMOUNT			\$9,131.85
Bay Area Disposal	\$98.00	12	\$1,176.00	\$122.00	5	\$610.00	\$14,240.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$119.25	12	\$1,431.00	\$119.25	5	\$596.25	\$18,642.63
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID						

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>							
<b>Bidder</b>	<b>G. WATER &amp; SEWER DIVISION (continued)</b>						
	<b>45. Prince Frederick WTP II</b>			<b>46. Solomons Headworks</b>			<b>Subtotal G. Water &amp; Sewer Division Items 45 through 46</b>
	<b>4 CY 1/Week</b>			<b>4 CY 1/Month</b>			
	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	<b>Monthly Charge</b>	<b># of Months</b>	<b>Annual Total</b>	
Affordable Refuse and Recycling	\$49.52	12	\$594.24	\$24.76	12	\$297.12	
Goode Companies, Inc.	\$107.09	12	\$1,285.08	\$62.00	12	\$744.00	\$2,029.08
Bay Area Disposal	\$128.00	12	\$1,536.00	\$96.00	12	\$1,152.00	\$2,688.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$79.50	12	\$954.00	\$19.87	12	\$238.44	\$1,192.44
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID						

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED LOCATIONS (continued)</b>								
<b>Bidder</b>	<b>Subtotal A</b>	<b>Subtotal B</b>	<b>Subtotal C</b>	<b>Subtotal D</b>	<b>Subtotal E</b>	<b>Subtotal F</b>	<b>Subtotal G</b>	<b>Total Bid Based on Estimated Annual Quantities</b>
	<b>Buildings &amp; Grounds Division</b>	<b>Detention Center</b>	<b>Fire/Rescue/EMS</b>	<b>Marine Museum</b>	<b>Natural Resources Division</b>	<b>Parks &amp; Recreation Division</b>	<b>Water &amp; Sewer Division</b>	
Affordable Refuse and Recycling	\$30,603.48	\$7,428.00	\$10,102.08	\$3,565.44	\$2,061.27	\$8,047.00	\$891.36	\$62,698.63
Goode Companies Inc. <sup>1</sup>	\$33,995.04	\$9,148.56	\$12,896.40	\$3,363.48	\$3,435.67	\$9,131.85	\$2,029.08	\$74,000.08
Bay Area Disposal	\$38,268.00	\$8,784.00	\$12,852.00	\$4,104.00	\$3,265.00	\$14,240.00	\$2,688.00	\$84,201.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$49,130.79	\$11,924.76	\$16,218.00	\$5,723.88	\$3,309.16	\$18,642.63	\$1,192.44	\$106,141.66
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID							

<sup>1</sup> Did not provide a unit price or total for item #44. Cannot accept bid for Option #2.

<b>OPTION #2: HAULING AND DISPOSING TO OTHER PERMITTED SITES (continued)</b>			
<b>Bidder</b>	<b>ON CALL SITES</b>		
	<b>47. Northern Sewage Treatment Plant 2 CY Price per Pick Up</b>	<b>48. Prince Frederick Sewage Treatment Plant 4 CY Price per Pick Up</b>	<b>49. Industrial Park Wastewater Treatment Plant 4 CY Price per Pick Up</b>
Affordable Refuse and Recycling	\$35.00	\$50.00	\$50.00
Goode Companies, Inc.	\$50.00	\$60.00	\$60.00
Bay Area Disposal	\$80.00	\$100.00	\$100.00
BFI Waste Services LLC d/b/a Republic Services of Washington/MD	\$25.00	\$45.00	\$45.00
Waste Management of Maryland	NO PAPERWORK SUBMITTED FOR OPTION #2 WITH BID		